Broken Cars
Zebra Puzzle oy oy

bain

Five broken cars are at the mechanic's. Figure out what the problem is with the sedan.

Color: black, blue, green, red, white Problem: airbag, engine, radiator, suspension, transmission

Mechanic: Damon, Kyle, Melvin, Reginald, Willie Type: crossover, hatchback, pickup, sedan, SUV

Manufacturer: American, French, German, Italian, Korean Mileage: 20,000, 30,000, 40,000, 50,000, 60,000

Problem

Type

Mileage
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The car that has a Transmission problem is exactly to
the left of the car that has a Radiator problem.

At the second position is the car that has a Radiator
problem.

The German car is exactly to the right of the car with
50,000 miles.

The car with 20,000 miles is at one of the ends.
The Hatchback has the least mileage of all five cars.

The Korean car is exactly to the right of the car with
40,000 miles.

The White car is next to the Crossover.
The car with 60,000 miles has an Engine problem.

The SUV is somewhere between the car that is being
fixed by Melvin and the Pickup, in that order.

The Green car is exactly to the right of the car that has
a Transmission problem.

At one of the ends is the White car.
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The Italian car is at the fourth position.

At one of the ends is the car that has a Suspension
problem.

Melvin is fixing the car that is exactly to the left of the
French car.

Willie is repairing the car that is at the fifth position.

The car that is being fixed by Kyle is exactly to the left
of the Red car.

The Blue car is somewhere to the right of the Black car.

The car that is being repaired by Melvin is next to the
car with 50,000 miles.

The car with 20,000 miles is exactly to the right of the
car with 40,000 miles.

The car that has an Airbag problem is somewhere to
the right of the Green car.

Kyle is repairing the car that is somewhere between the
SUV and the car that is being fixed by Damon, in that
order.
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The car that has a Transmission problem is exactly to The Italian car is at the fourth position.

the left of the car that has a Radiator problem. At one of the ends is the car that has a Suspension

At the second position is the car that has a Radiator problem.

problem. Melvin is fixing the car that is exactly to the left of the

The German car is exactly to the right of the car with French car.

50,000 miles. Willie is repairing the car that is at the fifth position.

The car with 20,000 miles is at one of the ends. The car that is being fixed by Kyle is exactly to the left

The Hatchback has the least mileage of all five cars. of the Red car.

The Korean car is exactly to the right of the car with
40,000 miles.

The White car is next to the Crossover.
The car with 60,000 miles has an Engine problem.

The SUV is somewhere between the car that is being
fixed by Melvin and the Pickup, in that order.

The Green car is exactly to the right of the car that has
a Transmission problem.

At one of the ends is the White car.

The Blue car is somewhere to the right of the Black car.

The car that is being repaired by Melvin is next to the
car with 50,000 miles.

The car with 20,000 miles is exactly to the right of the
car with 40,000 miles.

The car that has an Airbag problem is somewhere to
the right of the Green car.

Kyle is repairing the car that is somewhere between the
SUV and the car that is being fixed by Damon, in that
order.
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